1518300
"'f"‘m (I F EFREAFEMES

F (12)28RAE NS AR Q)EERE : TWISIS00B
Fepey (45)x%8 : P HERE 105(2016) £ 01 A 21 8

(21)% 3 %% © 103140933 (22)¥3 A - wERE 103 (2014) £ 11 B 26 B
(5Dnt. CI. : GOIB11/00 (2006.01) GOIB11/06 (2006.01)

(TD¥FA Bk AT £ B AR (7 2 R H) INDUSTRIAL TECHNOLOGY RESEARCH
INSTITUTE ~ (TW)
HATRAAT R E# 4 B 195 3%
(72)% A A © &% B CHANG, YIWEI (TW) ; & /& TAPILOUW, MARIO ABRAHAM (ID)
(TAVKIZA @ BB X 5 BESRIE

(56) % K
W 522287 CN  101339367B

FEAR T FHA
W R A SR AR ¢ 10 R B X6 #32 7

54 & #
AERER EEAERET X
OPTICAL CALLIBRATION DEVICE AND OPTICAL CALLIBRATION METHOD
CWEE

—HAERELEE > AEE)—BAEABAUR —ERRESE - 2V B R ERB L5 N
EV—AHARE-ZMREL  HFYEMRERRHED —AHABEDEELE D —RA AL - £
AR E D — AT E > URBRED —REABUE LN E D —RA BB ED
~REBE  PAHED-REFEFRTERASHUAREE D — B A ERABR A ZAH A ERE
B2 dd il £ e

An optical calibration device includes at least one illuminating measurement module and at least one
positioning calibration module. The at least one illuminating measurement module transmits at least one
incident light to a positioning calibration plate. The positioning calibration plate reflects the at least one
incident light and generates at least one reflection light. The positioning calibration module couples to the
at least one illuminating measurement module, receives at least one reflection light and generates at least
one calibration pattern of the at least one reflection light. The positioning calibration module measures and
analyzes the at least one calibration pattern for calibrating the incline angle error and/or the plane dislocation
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An optical calibration device includes at least one illufninating
measurement module and at least one positioning calibration module. The
at least one illuminating measurement module transmits at least one
incident light to a positioning calibration plate. The positioning
calibration plate reflects the at least one incident light and generates at
least one reflection light. The positioning calibration module couples to
the at least one illuminating measurement module, receives at least one

reflection light and generates at least one calibration pattern of the at
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and analyzes the at least one calibration pattern for calibrating the incline
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